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I: F (i)  = 2 F(k)  = E F (j)
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(3) i (F(i)  + G (i))  = C F(i)  + i G (i). (6.1.4)
i=l i - l i=l

(4) i [F (i  ) - F (i-1)  ] = F (n)  - F (0) (6.1.5)
ix1

n (5) i i =
i=l

(6) Liz =
i=.l

(7) ; i3 =
Id

(8)  l id =
i=l

n (n+1)- -
1

n (ntl)  tzn+ 1)
6

113 (nt1)2- - -
4

n (ml)  (6n3+9n2+n-1)

3 0

n

ih.h  6.1.8 QJ#lfil~DJ  ZZ i (3i  - 2) ItTlUla*fp~IJUi
i=l

(6.1.6)
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(6.1.8)

(6.1.9)
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Z i (3i - 2) = Xi  (3i2 - 2i)
14 i=l

a

= E 3i2 + ZL  L--2iJ
i=l i=l

I) zl

=3Xi2 - 2  Xi
i=l i=l

= 3 . n (n+l) (2~1) _ 2. n b+l)
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2n3+3$+n-2n2-22
=
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R (x)  = 640x-16x2+~x3

R’  (x) = 640-332x&'

c (x) = fx2+100x

c’ (x) = x + 100

R’ (x)  =. C’ (x)  rw\i



cs = j-7 (ao;ox)z  dr-360 x20

I (60  -x)3= -... -
P
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